[ /1 % B # ]

KnERaHH%R{SH
ER26%F 9H17H 7 T
; =% = % % ” 2 (kg =
s [F(AR) 26 650 400
E B i 8 17 b | T (FR) 42 450 100
0 b & 150. 00 0 1,500 100
MDA 2 3 298 MU [ b 5(4—2k) 650. 00 0 950 100
n b= 400. 00 0 280 180
LAvE) (85) 6 534 {@&| LN A& 7= 5, 600. 00 0 130 100
0 7 2, 300. 00 0 100 30
TOMDE = 27 0.50 by [& A F 0 200 85
s & 2, 300. 00 0 80 30
F 160. 00 0 950 300
F=H LY 50. 00 0 1, 300 450
,C3P) 40. 00 0 1,500 200
£ S5 1= 3, 900. 00 0 10 50
35 H 600. 00 0 180 100
#2515 1 0 3,100 2, 650
#fi520 105 0 3,000 2,300
525 198 0 2, 580 1,850
#fi530 161 0 2,180 1,660
#2540 92 0 1,910 1,630
PYLyh 500. 00 0 800 90
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